Note: the best way to study for the tests is to:

· Start by reading the lecture notes (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.
Reserve some hours every week to answer the questions. If you answer them properly, then you’ll have to study much less before the tests. Students who choose not to answer the weekly questions seldom pass the course.
You should hand me the answers to Week 1 at the beginning of next lecture (March 1).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 1 in bold at the beginning of your answers.
Lecture 1

1.What do capital costs consist of?
2. What do fixed labour costs consis of?
3. Unit variable costs are constant. Why?
4. Why do unit costs fall as output rises up to full-capacity?

5. Explain the two steps used by most business to set their prices.

6. What are the two main features of a competitive industry?

7. What is the normal profit rate?

8. The normal profit rate must be higher than on the interest rate. Why?

9. What happens if some businesses in a competitive industry are setting their price above the normal-cost price?
10. What happens if all businesses in a competitive industry are setting their price above the normal-cost price?

11. The normal profit rate is higher, the higher is the risk aversion of a country’s entrepreneurial capitalists. Why?

Lecture 2
12. Why do businesses desire to have on average a certain amount of excess capacity?

13. If all businesses of a competitive industry are at their desired level of utilization, what is their profit rate in that position? Explain.

14. Start from a position when all businesses of a competitive industry are at their desired level of utilization.

a) If the demand for the good/service produced falls, what happens in the short-term? Explain.
b) And what happens in the long-term? Explain.

15. Which types of variables costs of a business may change in a significant way?

16. Which types of fixed costs of a business may change in a significant way?
17. Consider the VAT cut implemented by the Portuguese government last July.

a) What would’ve happened if only a few ERs cut their prices by the full amount of the VAT cut? Explain.

b) What would’ve happened if no ERs cut their prices by the full amount of the VAT cut? Explain.
c) What would’ve happened if all ERs cut their prices by only half of the the full amount of the VAT cut? Explain.

18. Assuming that prices have been cut by the full amount of the VAT cut, what has been the effect on the number of Portuguese restaurants and on employment in the restaurant industry? Explain.
19. Back in July 2016, the Portuguese prime-minister stated that the purpose (and the effect) of the VAT cut was expand employment, not to reduce prices. Explain why this claim is inconsistent with our theoretical argument.

20. Consider that the activity of a restaurant is subject to indivisibilities. In this case, even if the VAT cut has not led to lower prices, it may still have boosted employment. Why?
